Verify. CHOOSE 5 OF THE 6 and circle them so I know which you want graded. 4 points each.

1. cos?(x) + cos?(x) tan 2(::c) 1
Cos®* X ( | +ran?x)

CDS""’-X sSec® A
S e el
e

1-_-‘-'"‘

i/’ cos®¥

§

3 tan(x) csc(¥) = sec({)
Seel. )\
oo SEEENT Y &
ol fr. )

COSA
= gecA

2smlx)—-1 . a
W et tan(x) — cot(x)

T gintx-coS °X
SRS CT = e
COSKEINK
= Sin*xAsSin"x-|
e ——— S —————
CoSXSInXK
coSASINX

)
7. csgza);- = sin*(%)

Ty mS”‘ksm"“
e . 05 L. =
ot X coStX cOS* X
=N K

w Gumd

1 1 2
= B XA
1-sin(x) t 1+sm(x) e ( )

\—___’—_-.-M
_, {-—-Slr\?"x

(,‘i e i W‘»ﬂi S\ r\"ﬂ}

tanz(x)+1 v 2
1+cot?(x) tan (;t‘)
a S,
SCC X - QOS*x
CeCwX l
SintX
| Seﬂmﬁ
oo ._,a---—"'_' ¢
cosx '
- S n*A
cos*t X
= Ltan " X

6. sin(»)[csc(x) — sin(x)] = cos*(X)
SINY. CSCA-sSin*%

S\RY:* — - Sin%Y
S\

S\nK

T |-sin*X

= COSTK

8. tan®(x) — tan*(x)sin “(x) =sin*(x)
fcm"x[ -sin2x]
" kaml % cogh %

2 a2 L
- S \n x’ = CO& .‘X‘ s LS H,«l o ‘><

e >
cos * X~ ‘

10. cos(x) + sin(x) tan(x) = sec(x)

COSX tSINX( ‘SIN¥%
| COSX

" E@s o xS0 8
\ cos¥




